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31.

32.

MAT 280 (T

Issue 9

Answer _Vey

1.2

.4
. (8x + 5)(6x + 5)

(5x+ 3)(8x-5)
(Bx+ 7)(4x + 5)
5(x+ 3)(4x-5)

. -(Bx-4)(4x-5)
Lx2-5x 6
X2t 4x-21
L2+ x-12

L xX%- x-06
s )
.x2+ 5x-24
L 202 +7xc+6

. 1257 - 19x+4

1052 +17x+3

. 26 421

Cx=-1

ox=-1

. X=4

S 10-2(25-3%) = 1—2(2X + 1.5)

=10-5+06X=1-4x-3
=>5+06X=-4X-2

= 10x = -7

=>x=-07
10-04x+1=3
=-04x+11=3

= -0.4x=-8

=>Xx=20

D

OX—4=2X—4

0=0

which means X can be anything.

X=-3

Drafted by www.MathEnglish.com

-10 -

33.
34.
35.

X =-10

18/5

Ix+2x=14

= 6(3X + 5X) = 6x14
= 3X +4X =84

= T7X =84
=X=12

. 0.064
CVe-—=L=
. 02

. 192
. 130 -100 =30

7 =7/60

20 60

1+ g=1%=2
3

Q) =§=5/6

. 120X + 720 = 840X - 1440

Divide both sides by 120, then we have
X+6=7x-12

18 = 6X

X=3

. 20% =12+60 = 0.2
. 14+1%4 =38

8x25 = 200 mi
286 _ x

52 80

X = 1440

. 5Ib8o0z=5"1b

31b4o0z=3%1b
3Yaxd +2V4x2 = 14 + 4.50 = 18.50 (total)
20 - 18.50 = $1.50 (change)

X=X =6

%X =06
X =36

. 160+4 = 40

40+2 =120

The square below cover Y4 of each circle. The area
of the shaded region is

20%20 - 102x3.14 = 400 - 314 = 86

O



49.

50.

51.
52.

53.

54.

55.

56.

57.

58.

59.
60.
61.

62.

MAT 280

1,1),(1,2),and (2, 1)
2-5=1/12

2{v2x100n} + ¥2x200x

= 200n

= 628 yards

628+4 = 157 houts.

108+3 = 36

36 =62

each side = 6 cm

2(18+6) = 48 cm (perimeter)
LCM(G, 8) = 24 min

A = 20 rounds

B = 21 rounds

20 + 21 = 41 rounds

Vo- Y5 =Y

8+Y6 = 48 (the weight of whole wine when full)
15X48 = 24

68 - 24 = 44 pounds

25+2 =125

3+2=15

125+15=14

4x102

Ans =4 &2

(3x9)2)* = 276

O=o6

390 = 340 = 330 = 390-40-30 = 320
O =20

2.16x1014
-2a+33)=5=>a=2
5n2-13n=6
5n2-13n-6=0
(6n+2)(n-3) =0
n=-04o0r3

A
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63.
64.

65.

66.

67.

68.

69.

70.

71.

72.
73.
74.

75.
76.

Issue 9
(10 — 2)x180 = 1440°

£ACB = 180° - 130° = 50°

X = 180° - 2(50°) = 80°

30+40 =70

30%0.6+40%0.25 = 28 = 40%x70
Ans = 40%

C

3I_Xx

5 10

X=06

Two triangles are similar.

The area ratio is the side ratio squared
=(3:52=9:25

30X2 + 5X2 + 4(15 - 5)

=60+ 10 + 40

=110

Let X ounces of 3%-solution and (85 - X) ounces of
19%-solution are mixed. Therefore, we have

X(3%) + (85 - X)(20%) = 85(19%)

3X + 20(85 - X) = 85%X19

-17X = -85

X =5 (oz)

D

% =0.4 =40%

E

0.42=0.16 = 16%
50

90

6-3=3
15-6=9
3:9=1:3

Ans = 15 (L of 3%) & 5 (L of 6%)
3

13

280+



